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A bug begins to craw] up a vertical wire at time ¢ = 0. The velocity v of the bug at time 7,
0<r <8, is given by the function whose graph is shown above. :

At what value of ¢ does the bug change direction? WIhey y <W 1€ hes o
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The position of a particle moving along a straight line at any time ¢ is given
by s(f) = 22 — 42 + 2t — 1. What is the acceleration of the particle when

- V= (L°-8t +2

R 4 a= 12t =&
@L a ®0 G(2)= a2y -& = A4 =
© 8

A particle moves along the x-axis so that its position at time ¢ is given by x(f) = 1?61+ 5 For
what value of ¢ is the velocity of the particle zero? N =28 éﬁ? =0
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.o If y=tanx—cotx, then d);= Sel X — t‘i‘Si‘fﬁ =oSeC x40
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(A) secxcsex (B) secx—cscx (C) secx+cscx (D) sec? x —cse? x @\i}ec2 x+cse”x
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@ If f(x)=(x*-2x—=1)3, then f'(0) is

4
©) =2(x-—§-j

D) y= ~(x - ﬂ

( (E)\ y~-—2(x~ZJ
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@ If f(x)=(x~1)?sinx, then f'(0)=
To 2> ®

()= 2l

@ If y = cos® 3x, then — dy 2
dx /
@ ~6sin3xcos3x
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(D) 6c¢cos3x
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~2c083x

2sin3xcos3x
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| U = coS (2" &)
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(C) 2cos3x
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(A) -8cos (—3—) (B) -2 QO‘S ( _’2£ )
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'\ If y=cos x—sin® x, then ' =

Aa -1 B 0 (C) ~2sin(2x)
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@ If f(x)=sinx, then f’(g):

1 =1 >
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PG Cosx
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~2(cosx +sin x)

(E) 2(cosx—sinx)
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